T14+L1+ D14

Pu > 1087.1
T2:1074.0

T19: 1926.0

Qu< 115.08

T3:517.0 ¥ N 18 557.0 - 472, NT26: 1454.0

Vinf < 1.107 Vinf < 1.0648 Pu > 958.86 Vinf < .94735
Pu > 1098.9 Pu>1184.5 ﬁ ﬁ

T5: 429.

Vinf <.99035 Pu > 997.48
\iN& 310 % % TZS:E.O le. 270.0 Donfz.mzész.o

VI <1.0919 VI <1.0486 Pu > 804.39

Dlﬂi&@lﬁ“ﬁgo

D1: 3%_0 Dii: 470 LL ﬁ.o Di”14.o

Learning set classification (w.r.t. SECURITY)
[ Insecure: 937 P(Insecure) = 0.3123
[] Secure: 2063 P(Secure) = 0.6877

Test set classification
Non detection costs:  Insecure: 1.0 Secure: 1.0

Reference Decision Tree Class
Security Insecure Secure Total
Insecure 534 68 1 602

Secure | . 77 1321 . 0 1398 |
Tota 611 1380 2000

DT2 (T32 + L7 + D26). N=3000 M = 2000 alfa=0.00010 Pe =7.25000%
Subtrees at nodes : T9, T15, T21, T28,



T6+L2+D5

Pu>1161.9

i"hz: 119.0

VI <0.992

T10: 236.0Yi

Xinf > 57.382

D6: 162Y‘i ii 1:740 DO9: 23, ﬁ :;iS 96.0

Qu < 632.87 Xinf > 59.911

D7: 48Yi %; 060 T14: 450 \3: 51.0
Q

u<773.16

D10: 350 L%: 10.0

Learning set classification (w.r.t. SECURITY)
] Insecure: 238 P(Insecure) = 0.3123
[ ] Secure: 117 P(Secure) = 0.6877

Subtree of DT2 atnode T9: N=355M =240 Pe =17.50000%



T4+12+D3

Pu > 1240.0
NT17: 159.0

Qu < 770.02 Xinf > 66.106

D11 ﬁf fi4z 9.0 118 3eff fs: 129.0

Pu>1171.3

D12: 170 N 18.0

Learning set classification (w.r.t. SECURITY)
[ Insecure: 35 P(Insecure) = 0.3123
[ ] Secure: 167 P(Secure) = 0.6877

Subtree of DT2 atnode T15: N=202M =118 Pe =17.79661%



T3+L1+D3

Vinf < 1.0319

L6:57.0 2:107.0

Pu>1011.0
T23: 66 W6: 41.0

VI < 1.1095

D14: 51(z|$ %; 15.0

Learning set classification (w.r.t. SECURITY)
[ Insecure: 108 P(Insecure) = 0.3123
[ ] Secure: 56 P(Secure) = 0.6877

Subtree of DT2 atnode T21: N=164 M =109 Pe =11.92660%



T5+L1+D5

Pu > 966.74

T29: 45 6: 961.0

VI <.98445
Y, 0 NO: 428.0

Qu < 7.9133

T31: 8%0 D¥3: 341.0

Vinf < 1.0282
T32: /.0 D24.60.0

Xinf > 62.354

L7: Ii.o sz:i' 15.0

Learning set classification (w.r.t. SECURITY)

] Insecure: 42 P(Insecure) = 0.3123
[] Secure: 1378 P(Secure) = 0.6877

Subtree of DT2 at node T28 : N = 1420 M = 964 Pe = 2.69710%



